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y z2 127C 120

22 10 20
2 10 12

Iz x 2 K IO

z 2 to to F I
2 2 2 10 u 4 4

before fYor
or y 10 2 2 10

0 10 2,0 and 10,0
2 6

y 12162716 107
121471 47 8 y g

Domain X EIR

6,81
Range yes
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1 8
24 cry int

f x 31 2 22 8 22 9 18
24 12 8

31 4712124 4 2 f y 13 21 33646
7117 311 47427

4
3 6

31 3 3
27 20 45

1,27 ht 4.57 31 45 3
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h Owhen x D

h 0.15 2 3 0
0.152 x 20
t a

2 0 2 20
Demain OE K 20 IK
Range eye 15 TokO 10
Themaximum height h 0.15110531101
ofthe water is 15M 15 30

15
vertex 10,15

A

Ground Level



y_fzLx2 16 40 y 1 172 611 10

on y int I 6 to

0 5 6 10
I 3 2 I O l 16.5

Y 32.5 14 16.5 10 3.5 y I 1
2
6 17 10

3.5
y 1125 612710

14

Quiz Question

y W 14 0
y L D2141 1Ty int L 4

3
K 4 3 2 I O l y 1 444
y O 3 4 3 O 6 6

A Tigger y 232 14 2verte vertex 4

y 37 413


